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C 2 0: shifys graph of LX) 1o the ledt
C < 0: shifkg grarh of £(x) 4 the vight

a2 |t stvetches £(x) vevtically
0<a<|: squishes £(x) vertically
~b << 0: Dlips £(x) over x-
A<= flips £(x) over x-

AXIS and squishes i+ vertically
AXIS AnA stretches it vertically
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Tvigonometvic identities

Recipvocal |Aewti -
¥ Sk Sum oma Dibbevence ldentities
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CBXT Secx cot x = c:-os - - . e
S X famx cos (A+B)= cosficesB T simAsinB
o _ |
PHES csc x secx = cos x sm (AXB) = sinAcosB £ cosAsinb
o Sux l l fomA £ temB

TR cosx  cobx sex = sin x tom (AL B) =

CoPunction lAentities

'TF . .
CosS|—— x| = smx S [— = x| = cos x
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sec E—x = csc K csc E_x = secx

Pythagoveam |Aentities
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Double Angle lAentities
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Product-to-Sum lAentities
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g Devivatives
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Exponential/ Log Devivatives
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Tvig Antdevivatives
~TJ AMntaevivatives

Jcosx Ax=smx + C
Jstnx Ax = —cos x + C
Jtam x Ax = u cos x| + ¢
J cot x Ax = W sin x| + C

Jsec x Ax = u lsec x + tawm x| + C

J s x Ax = -In lcse x + cot x|+ C

Exponential/Log
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